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[EE B R | BURanESe WP |l S| S8 |mER HR | BG | TP.| OP [S%X¥ TI | AV.
1 |ilish JE—AR INE 7 3 ]3] 28] 14 1 0 0 9 17 | 293 | 190 [ 154%| 329 [ 0.891
2 |ARF & =Fi# 7 3| 27 ] 24 ] 12 2 0 0 7 10 | 274 | 180 [ 152%[ 320 | 0.856
3 |&x B L= 6 3| 25| 23| 11 3 1 0 11 | 10 [ 261 | 203 | 129%| 291 0.897
4 |ingk MEA AV ZI N 3 24 | 2 10 4 1 0 7 13 | 266 | 200 | 133%| 304 0.875
5 184 Hith ARAI 7 3 23 | 22 | 11 4 0 0 7 15 | 264 | 228 | 116%| 339 0.779
6 |FE = e 5 3 22 | 22 | 11 3 0 0 6 16 | 255 | 197 [ 129%| 299 0.853
1 | XKE B HE 4 3| 22| 22| 11 4 0 1 7 14 | 276 | 198 | 139% | 366 0.754
8 s & <Y 8 2 17 | 11 5 3 1 1 7 8 | 168 | 143 | 117%]| 197 | 0.853
9 |#M Fned L= 5 3 16 | 10 5 10 0 1 5 16 | 219 | 274 | 80% | 336 0.652
10|& E BIGBOX 4 2 14 | 15 7 2 1 0 6 14 | 177 | 157 | 113%] 240 0.738
11 |BM = Y= 6 2 14 | 12 6 4 0 0 4 19 | 186 | 148 | 126%| 233 0.798
12 |50 EE REVE 3 3 13 | 14 7 8 0 0 8 24 | 236 | 266 | 89% | 381 [ 0.6194
13 |EJIl #h2 [N 4 3 13 | 14 7 8 0 2 6 21 | 239 | 234 | 102%] 386 | 0.6192
14 |#5K M+ 7L+ 4 3 12 | 12 6 9 0 1 7 20 | 227 | 247 | 92% | 361 0.629
LI L <k 3 2 12 | 10 5 5 0 1 5 23 | 173 | 153 | 113%| 286 0.605
16 iR S AVET | 4 3 12 5 2 11 1 4 6 18 | 201 | 237 | 85% [ 349 0.576
17188 8 NABBI 5 3 11 10 5 10 0 2 8 19 | 193 | 249 | 78% [ 372 0.519
18 |H =BR TENUR | 4 3 1 6 3 12 0 3 6 27 | 202 | 279 | 72% | 364 0.555
19 kil B7F 7L+ 3 2 10 | 10 5 5 0 2 5 17 | 163 | 157 | 104%| 290 0.562
20 |=F #z BAZ 3 2 10 8 4 6 0 1 7 22 | 176 | 180 | 98% | 272 0.647
21 |&E B4 WIND 8 1 10 8 3 0 2 0 11 10 | 100 | 79 | 127%| 87 1.149
22 ki EAA [N 5 2 10 8 4 6 0 1 4 19 | 144 | 164 | 88% | 224 0.643
23 |l BAX INER 4 2 10 7 3 5 1 0 5 14 [ 157 | 172 | 91% | 223 0.704
24 |55tk BIIE V% 5 2 9 10 5 5 0 0 6 20 | 168 | 160 | 105%| 264 0.636
25 | &3 - JEIL—L| 4 2 8 10 5 5 0 2 8 19 [ 172 | 173 | 99% [ 262 0.656
26 |4EiE Eth aE— 4 2 8 5 2 7 1 1 7 26 | 157 | 184 | 85% | 270 0.581
27 | A1 Fnqe JLIS 3 2 8 7 3 6 1 1 7 26 | 174 | 176 | 99% | 287 0.606
28 |FiE KX BAZ 4 2 8 5 2 6 1 1 4 20 | 130 | 164 | 79% | 223 0.583
29 |l BEE FENAUX | 3 2 8 4 1 6 2 3 6 25 | 146 | 176 | 83% | 259 0.564
30 |£R #xX <= 6 1 7 7 3 1 1 0 4 17 | 86 | 66 | 130%| 111 0.775
3 |48 =H <= 6 1 7 7 3 1 1 1 7 16 | 98 | 69 | 142%| 124 0.790
32 i@ Ei Y= 7 1 7 6 3 2 0 1 6 30 | 65 | 70 | 93% | 113 0.575
33 BRR #3% LPS 2 2 6 3 1 8 1 2 5 25 | 145 | 181 | 80% | 295 0.492
34 | KiE —X = 3 2 6 0 0 10 0 3 4 — [ 139 | 191 | 73% [ 271 0.513
35 HEAK &N aE— 3 2 6 0 0 10 0 1 4 — [ 135 ] 217 | 62% | 268 0.504
36 |FER #%hE ¥/ 9 1 5 6 3 2 0 0 5 12 | 89 | 78 | 114%| 92 0.967
37 |F B HE 4 1 5 5 2 2 1 0 5 27 | 62 | 74 | 84% | 116 0.534
38 MK EzB k- 5 1 5 4 2 3 0 0 5 14 | 95 | 80 | 119%] 112 0.848
39 |9F BEX e 4 1 4 4 2 3 0 1 4 32 | 67 | 70 | 96% | 125 0.536
40 | Tk % BAZ 2 1 4 2 1 4 0 2 4 21 | 73 | 81 | 90% | 138 0.529
41 |l B ARAI 7 1 4 2 1 3 0 0 4 30 | 45 | 76 | 59% | 84 0.536
42 |\RE #fE JLIS 3 1 3 4 2 3 0 0 4 25 | 69 | 88 | 78% | 140 0.493
43 |EIF ¥Rk JL—Y 4 1 3 2 1 4 0 1 4 33 [ 73 | 92 | 79% | 128 0.570
44 |FE8 B (B e 2 1 3 2 1 4 0 0 5 35 | 64 | 98 | 65% | 127 0.504
45 |&F0O & E R 4 1 3 0 0 4 0 1 6 — | 70 | 76 [ 92% | 126 0.556
46 | 5K &4 —vh 4 1 3 0 0 4 0 1 3 — | 45 | 71 [ 63% | 101 0.446
47 |HE BBk JL—Y 3 1 3 0 0 5 0 3 5 — | 68 | 68 [100%]| 157 0.433
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